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Preface

The IEA Readings have been devised to refine the market in ideas by
presenting various approaches to a subject in a single volume.
It is hoped they will be of special value to teachers and students of
economics as well as to laymen who want to know what economists
are thinking and writing on the subject that concerns them.

Readings No. 15 has grown out of a Seminar but the verbal
discourses have been considerably updated and amplified. Mr Walter
Eltis has also brought in his colleague Mr Robert Bacon, and the
material under their names is a much fuller statement of the argument
they have been deploying. And Mr David Marquand, who was
prevented from attending the Seminar owing to absence abroad, has
generously gone to some trouble to compile a statement to complete
the trio of Parliamentarians from the three parties.

The result is a unique collection of thoughtful analyses of the
stubborn task of reducing government expenditure that economists
in all schools of thought are coming to accept as a desirable objective.
Messrs. Eltis and Bacon of the University of Oxford, Professor Tom
Wilson from the University of Glasgow and Professor Jack Wiseman
from the University of York approach the subject from varying
angles and go to the root of the obstacles to reductions in expenditure
that government must face sooner or later. And Professor Richard
Lynn analyses the evidence on education. '

The three Parliamentarians, among the ablest of the members
of their parties, indicate how they see the task of cutting government
expenditure: Mr David Howell as a Conservative with experience of
office in the 1970-74 Government, Mr John Pardoe as Liberal
‘Shadow Chancellor’, and Mr Marquand as a member of the Social
Democratic wing of the Labour Party.

To varying degrees all six discuss the causes of and cures for excess
expenditure and in so doing analyse a wide range of aspects of the
subject from government machinery to the changes in policy and the
philosophic value-judgements on which they must rest. But more
than that: several of them find themselves discussing an aspect that
would have seemed cynical or simpliste a few years ago or even a few
months ago. The expansion in expenditure has reflected far more
than inadequate machinery of control, or fallacious philosophic
thinking, or out-dated political attitudes: it also reflects, perhaps

ix



The Dilemmas of Government Expenditure

even more fundamentally, the sheer imperative of using the patronage
of government to achieve, consolidate and buttress political power.
Some years ago agricultural economists were discussing the subsidy
cost incurred by Conservatives to keep agricultural seats; in.recent
months the discussion has been about the reluctance of the Govern-
ment to cut expenditure for fear of risking Labour urban seats.

These two examples may seem over-simplified, but they reflect the
growing interest of economists in what is called variously the
economics of politics, the theory of public choice, the economics of
democracy, or other descriptions which indicate that economists are
analysing the activities of politicians in the same systematic manner
in which they analyse the activities of men in industry with motives
of self-preservation and self-advancement. This approach does not
imply a judgement about the goodness or badness of politicians or
entrepreneurs. It is based on more realistic assumptions than that
the activities of politicians could be explained as concerned solely to
serve ‘the public interest’. A forthcoming Hobart Paper by Professor
Gordon Tullock of Virginia, one of the founders of the Virginia
School of public choice, and Dr Morris Perlman of the London
School of Economics analyses this newer approach of economists
more fully.

As a case study in the yield from government expenditure, Professor
Lynn reviews the researches into expenditure on the successive stages
of education and the poor return revealed by a range of studies. His
analysis and conclusions contest the view that government expendi-
ture on ‘education’ is necessarily desirable and must be mamtamed
and increased on principle in all circumstances.

An aspect of the task of reducing government expenditure that is
not considered at length in current debate is the extent to which
government services yield private benefits for which the appropriate
method of financing is not taxes but prices. The process of controlling
expenditure on the ‘public’ services that have grown in the past
century might become more tractable if government did not have to
devise machinery for controlling the expansion of private benefits
supplied at nil or at less-than-market price. The traumatic pains of
‘cutting’ expenditure decided after weighing economic imperatives
against electoral consequences in the Cabinet Room might be eased
if the costs of services for which consumers could pay in the market
were made explicit and charges were levied where practicable, so
that expenditure was ‘cut’ by consumers who knew the alternatives

X



Preface

they sacrificed rather than by politicians who did not. This subject
is discussed in an essay in Catch °76 . . . ? and in a forthcoming
Hobart Paper incorporating evidence to and an appraisal of the
Layfield Report on local government financing.

Interesting observations and propositions made by members of
the invited audience at the Seminar are included under the heading
‘From the Floor’.

The Institute is grateful to the seven contributors to these Readings
who have together combined to produce a volume of stimulating
thought of especial value for teachers and students of economics and
for people in Westminster, Whitehall, in industry and in the press
and broadcasting.

February 1976 ARTHUR SELDON

Xi



PART 1§
The Economists

1. How Growth
in Public Expenditure
has Contributed
to Britain’s Difficulties

ROBERT BACON and WALTER ELTIS*

*This essay is based on a paper delivered at the seminar and subsequently at
other seminars. It has been developed into the chapter, ‘The Fundamental
Problem’, in Robert Bacon and Walter Eltis, Britain’s Economic Problem: Too
Few Producers, Macmillan, 1976, which contains an extended version of the

argument.
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Growth in Public Expenditure and Britain’s Difficulties

The fundamental ways in which extra-rapid growth of public
expenditure cause difficulties for an economy will be explained in
this article. The full implications for Britain in particular will then
be set out.

It is not obvious to all that public expenditure has grown par-
ticularly rapidly in Britain. Such a view can be based, for instance,
on official statistics like those which state that the current spending
of central and local government increased only from 17-5 per cent
of the gross domestic product at constant market prices in 1961 to
21-9 per cent in 1974, Their capital spending merely increased from
4-0 per cent to 4-9 per cent of the gross domestic product in the same
period. It might thus appear that the current and capital spending
of the public authorities in Britain increased only from 21-5 per cent
to 26-8 per cent of the gross domestic product.! Spread over 13
years, such an increase should hardly squeeze the remainder of the
economy to any significant degree. And OECD data show that
public spending increased as much as this in many developed
economies.?

Such conclusions cannot be drawn from official figures like these.
First, they are expressed in constant prices, so they exclude much
of the relative price effect—teachers’ and civil servants’ salarics
rising faster than the general price level—which has increased
public spending much more than private spending in current money
terms. Second, figures like the above exclude transfers from people
who produce to those (like pensioners) who do not, so they underrate
the extent to which producers have had to finance the increased
spending of others. Third, they are based on a division of the econ-
omy into public and private sectors rather than market and non-
market sectors, which is more relevant to the problems that really
matter—inflation, growth and the balance of payments, for marketed
output has to provide for the private consumption, investment and
export needs of the nation.

How much difference the first two qualifications make is clear

1 National Income and Expenditure, 1964-74, Tables 14 and 59, and 1972,
Tables 14 and 50. The totals are expressed as fractions of the gross domestic
product at constant factor cost.

¢ For instance, OECD, National Accounts, 1962-73.



The Dilemmas of Government Expenditure

when figures like those quoted above are contrasted with those of
Professor Cedric Sandford and Dr Ann Robinson, whose survey
of public expenditure in Britain showed that the combined spending
of the central government and local authorities, with pensions and
other transfers included, increased from 40-6 per cent to 52:5 per cent
of the gross national product in only 10 years—1964 to 1974. With
expenditure on financial assets excluded, it increased from 38-0 per
cent to 49-3 per cent.? It is far more plausible to suppose that increases
like these, which show a reduction of about one-fifth in the share of
the money national income available to the remainder of the
economy, had significant effects.

Moreover, it is the public sector activities which do not provide
marketed outputs that put particular pressure on the resources of the
remainder of the economy, and spending on these increased still
faster than the ratio of public expenditure to the gross national
product. The claims on marketed output from outside the market
sector increased from 41-4 per cent of marketed output in 1961 to
60-3 per cent in 1974, thus apparently reducing by nearly one-third
the proportion of output that market-sector producers could them-
selves invest and consume. This much larger increase in the ratio of
government claims on marketed output resulted from the transfer of
workers from producing marketed output to unmarketed public
services like administration, and health. This has two distinct effects.
First, it reduces the economy’s marketed output and, second, it
increases what producers must lose out of a diminished total to
supply the needs of non-producers. Thus if workers earning
£2,000 million are transferred from the market sector to unmarketed
public services, marketed output will fall by £2,000 million and the
claims of the non-market sector on what remains will rise by £2,000
million (before tax).* With the change in public expenditure shown
as a share of the national income, the increased claims of £2,000

3 Cedric Sandford and Ann Robinson, ‘Public Spending—a feature’, The
Banker, November 1975, pp. 1,241-55. .
¢ That Mrs Thatcher has understood this for some time is evident from a
speech of 15 September 1975, in which she said:
‘The private sector creates the goods and services we need both to export
to pay for our imports and the revenue to finance public services. So one
must not overload it. Every man switched away from industry and into
government will reduce the productive sector and increase the burden on it at
the same time’.
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million would be shown, but not that £2,000 million less purchasable
output was available to meet them, for civil servants’ salaries are
included in the national income, like those of market-sector workers.
The marketed output measure of increased government spending
shows such a large increase in Britain because it indicates this dual
effect which has been greater in Britain than elsewhere.

The increased taxation needed in Britain

The increase in government claims on marketed output certainly
had powerful effects in Britain, and required a big increase in
taxation. It will be assumed conservatively that taxation in the
market sector had to be raised by 9 per cent of marketed output
from 1961 to 1974 to finance the increase in non-market sector
claims of 189 per cent. The assumed increase is much less than
18-9 per cent for two reasons. First, since non-market sector workers
and pensioners pay taxes, it is not necessary to finance their whole
cost by taxing the market sector. Second, the British budget was in
substantial deficit in 1974 (partly because the world recession was

s PROFITS NET
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beginning to have adverse effects on tax revenue) so taxes were not
increased as much as expenditure. The increase in taxation in the
market sector was a little less than 9 per cent in 1961-74, but it will
need to be more than 9 per cent when the economy approaches full
employment. Nine per cent is thus sensibly between the actual
increase in taxation and what will be needed.

Increased taxation of 9 per cent of marketed output must have
strong effects on the economy. The left-hand block of the Chart
shows the assumed division of marketed output between profits,
wages and salaries, and the government in 1961. It is assumed that
25 per cent of marketed output went to profits before tax (net of
capital consumption) and 75 per cent to wages and salaries. Total
taxation is assumed to be 36 per cent, and charged on profits and
wages and salaries at equal rates, so one-quarter of it was taken
from profits and three-quarters from wages and salaries. After tax
profit-receivers therefore kept 16 per cent of marketed output (in
place of 25 per cent before tax), workers 48 (in place of 75 per cent)
and the government obtained the remaining 36 per cent of marketed
output. This simplified example can obviously be no more than an
approximation to the situation in 1961, but it gives the broad orders
of magnitude of the division of marketed output between workers,
profit-receivers and the government

The three blocks on the right show three possible examples of
what could happen when an extra 9 per cent of marketed output has
to be taken from those who produce it to enlarge the government’s
share of marketed output to 45 per cent. In (a), profit-receivers
keep 16 per cent of marketed output as in 1961, and the extra 9 per
cent the government takes comes wholly from workers and salary-
earners. They therefore receive 39 per cent of marketed output after
all taxes in place of 48 per cent. This result could come about if the
government levied the entire extra taxation of 9 per cent on workers
and salary-earners while the distribution of incomes before tax
remained as it was, or if it raised taxes equally on wages and profits,
but businessmen could pass profits taxes on to the consumer. Then
profits net of all taxes would be the same as before and the entire
extra cost of the non-market sector would be paid by workers and
salary-earners through higher taxes and their lower share of total
incomes in the market sector.

In block (b), profits and wages lose equal shares to pay the extra
9 per cent, so profits pay for one-quarter of it, and wages and salaries

6
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the other three-quarters. Net-of-tax profits therefore fall from 16 per
cent of marketed output in 1961 to 133 per cent in 1974, while wages
and salaries fall from a net-of-tax 48 per cent to a net-of-tax 41} per
cent. This could come about through equal tax increases on wages
and profits, or through different tax increases and compensating
changes in the distribution of incomes.

Block (c) shows the possibility that corresponds most closely to
what happened in Britain in 1961 to 1974. The whole of the govern-
ment’s extra 9 per cent to raise its share of marketed output to
45 per cent is taken from net-of-tax profits, which therefore fall
from 16 per cent of marketed output in 1961 to 7 per cent in 1974.
With profits paying the whole extra cost of the larger non-market
sector, workers and salary-earners continue to receive 48 per cent
of it after all taxes. Again, this situation could come about in two
broad ways. First, the government could levy all the additional taxes
it needed on profits or incomes derived from them while the distribu-
tion of incomes remained unchanged. Alternatively much of the
additional taxation could be levied on wages and salaries in the first
~ instance, but if workers had the power to pass these taxes on,
profits could end up losing the whole 9 per cent. Workers can pass
taxes on by causing exceptional wage inflation that leads to a squeeze
on profit margins, either because prices and incomes policies, which
impose lower profit margins on companies, are introduced to control
inflation, or because the exchange rate is not lowered in line with
domestic inflation, with the result that international competition
squeezes profit margins.

The extra 9 per cent taxation of marketed output could thus cut
net-of-tax wages and salaries by 9 per cent of marketed output (a),
or net-of-tax profits by 9 per cent (c), or both together (b). These
may all have significant effects, and something corresponding quite
closely to one of them must happen, for an extra 9 per cent of
marketed output must be taken from either profits or wages and
salaries or both together.

If it is predominantly wages and salaries that are squeezed,
workers’ consumption has to fall from 48 to 39 per cent of marketed
output during the 13-year transition period. If marketed output rose
rapidly at the same time, workers’ private net-of-tax incomes could
fall from 48 to 39 per cent of this and still grow very fast indeed in
absolute terms. Thus if marketed output per head rose at a West
European rate of 5 per cent a year during the 13 years, the private

7
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consumption of workers and salary-earners could rise 53-2 per cent
or 3-3 per cent per annum during this period. A reduction in the rate
of increase of living standards, in terms of private consumption,
from 5 to 3-3 per cent a year for 13 years would be enough to divert
the necessary extra resources to the non-market sector. It is because
some economies have had growth rates in marketed output like
these that they have been able to achieve a rapid transfer of resources
into the non-market sector and a high rate of increase of private
consumption per head at the same time. Consider in contrast a
similar transfer of resources to the non-market sector with the
British rate of growth of marketed output per head of about 24 per
cent per annum. Here private net-of-tax incomes can grow only
12 per cent in the 13-year transition period, or at 0-9 per cent per
annum. To divert resources to higher social spending, workers can
be expected to accept much more readily a reduction in the rate of
growth of private consumption from 5-0 to 3-3 per cent for 13 years
than from 2-5 to 0-9 per cent per annum, which could lead to markedly
more frustration and union militancy.

Does social spending reflect worker preferences?

There would, of course, be no adverse response to such a diversion
of resources if the increased social spending was a direct and exact
response to workers’ preferences. There are two conceivable ways
in which this could come about. Social spending decisions could be
taken through parliament, and the policies the government of the
day implemented could in theory reflect the preferences of the great
majority of the electorate, and therefore of most workers and salary-
earners. If they were really aware of the costs of policies when they
voted for them, the increased taxation would be part of what they
voted for. The electorate should then expect a much slower rate of
growth of private net-of-tax incomes than of aggregate output, and
there should then be no attempt to get extra wage and salary increases
to compensate for higher taxation. Alternatively, a decision to
increase social spending relative to private spending could be taken
rationally as part of an incomes policy negotiated nationally. A
central trade union leadership with the power to commit member
unions and the rank and file could agree to exercise wage restraint
if the government increased social spending much faster than the
national product. If either of these conditions could be met, even
a slow-growing economy could divert resources rapidly into the

8
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non-market sector without a wages explosion, and achieve an
orderly 13-year transition to the situation illustrated in block (a)
where the government takes 45 per cent of marketed output in place
of 36 per cent, and workers bear the entire costs.

But if neither set of conditions can be met, workers will not
necessarily acquiesce in a reduction in the rate of increase of private
consumption per head from 2-5 to 0-9 per cent for 13 years. Only
the Scandinavian countries have the machinery to bargain about
the ‘social wage’ nationally and trade union leadership that can
commit the rank and file. Other countries must therefore rely on
their parliaments to allocate resources between private and social
spending. For this mechanism to give a result that reflects the true
wishes of the people, the costs of social policies must be made clear
at election time. If political parties pretend they can increase both
private and public consumption at rapid rates, they may be voted
into office and then dismay the electorate when the bills have to be
paid. The electorate as workers and members of trade unions may
then all too easily respond by refusing to accept the bills which were
not what they voted for. To refuse to pay taxes is impractical,
because this can rapidly result in the sequestration of property and
imprisonment, but obtaining wage and salary increases which make
up for extra taxation is often perfectly possible—at least for a time.

This is almost precisely what happened in Britain in 1961 to 1974.
Lack of knowledge by the people at election time of the extra tax
costs of higher social spending that they themselves would have to
pay, or disappointment at the failure of the ‘social wage’ to rise
significantly in output terms, or inconsistency between votes in favour
of the ‘social wage’ and industrial action in favour of private con-
sumption could all help to explain the push for higher pay to offset
higher taxes. The likeliest explanation is that the full tax costs of
social spending programmes, local government reorganisation
(which has led to soaring local authority rates) and so on were never
made clear enough. The British people therefore voted for higher
social spending and then set off rapid wage inflation when they
realised to their surprise that they were expected to pay for it.

Monetarists would not allow that frustrated workers can set off
rapid inflation without government co-operation, for they believe
that workers could only push up wages rapidly if governments
increased the money supply at similar rates. They would expect
prices to be stable if the government increased the money supply
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only as much as the long-term growth rate, whether taxation on
workers’ consumption rose or fell. But they would concede that
frustrated workers could raise money wages rapidly at first until
lack of growth of the money supply began to bite. With money
wages rising and the money supply held back, unemployment would
mount, and it is therefore extra unemployment that workers’ frustra-
tion due to rising taxation would cause. This analysis is surely
correct; and it means that the argument can be set out more generally.
If workers are frustrated by rising taxation, either inflation will
accelerate (if the money supply is allowed to expand), or unemploy-
ment will rise (if the money supply is controlled).® The range of
options will therefore deteriorate, and governments will be faced
with the choice of either more inflation than in the past, or more
unemployment, or, as a third alternative, tougher incomes policies
with stronger sanctions. Such countries are only too likely to end
up with the stagflation from which many have recently suffered.

In Britain, the workers certainly raised money wages more rapidly
when taxation increased. This means that the increased cost of non-
market expenditure was not met, as in principle it could have been,
through a 9 per cent reduction in the share of marketed output
going to wages and salaries. The case where profits net of all taxes
fall by 9 per cent of marketed output appears to correspond most
closely to what happened in Britain. What are the full implications?

The implications fer investment

If the entire extra 9 per cent of marketed output that the government
needs must be found from net-of-tax profits, they must fall by over
one-half, from 16 per cent to 7 per cent of marketed output. Businesses
finance much of their investment by ploughing back profits, so if
they fall by over one-half after tax, investment will be severely
threatened. Companies have two possible additional sources of
finance (apart from the government). They can issue equity shares

8 In technical terms monetarists would describe this deterioration of options as
an increase in the ‘natural’ rate of unemployment, i.e. in the unemployment
rate at which prices are stable. (Professors Milton Friedman and David Laidler,
Unemployment versus Inflation? Occasional Paper 44, IEA, 1975.) It would be
a prediction of the theory we are putting forward that the increase in the
‘natural’ rate of unemployment (or rightward movement of the Phillips curve)
throughout the world since 1960 would be partly explained by the inverse of
‘the increase in marketed output per worker less the rate of diversion of
marketed output per worker to the non-market sector’, in the various countries.
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on the stock exchange, and borrow on fixed interest. But equity
shares cannot be sold on acceptable terms where profits are falling
in relation to marketed output and profit expectations are depressed,
as they will be if net-of-tax earnings fall by one-half (as a share of
marketed output) in 13 years. In such a situation, firms will be able
to invest much more than their retained earnings only if they are
prepared to borrow heavily on fixed interest.

The difficulty with fixed interest borrowing on a large scale is that it
increases the risk of bankruptcy, or at any rate takeover by creditors
who generally change managements that cannot pay the interest
they have contracted. A firm which finances investment wholly from
its profits can continue to produce so long as it continues to earn
profits. A company which has to pay interest to outsiders equivalent
to half its profits in normal times will be unable to meet its interest
costs from profits if they fall 60 or 70 per cent. If it also lacks reserves
so that it finds the payment of interest an embarrassment, the banks
and insurance companies which lent the money might decide to put
in other managers and the managers who borrowed imprudently will
then become unemployed with a record of recent failure. Bankruptcy
would follow a prolonged inability to meet interest commitments. In
contrast, a fall in profits of 60 or 70 per cent in a recession would leave
managements relatively safe from outside interference if all the money
they had used to finance investment came from ploughed-back profits.

Because of the risks involved in borrowing on fixed interest terms,
companies prefer to finance a high proportion of their investment
from retained earnings. A company that considered it sound financial
policy to finance at least two-thirds of its investment in this way
would be able to borrow 50p on fixed interest terms for each £1 of
its own profits it reinvested, so its investment would be at most
one-and-a-half times its retained earnings. A second company,
prepared to take bigger risks, might willingly borrow £1 for each £1
of retained earnings ploughed back, while a third might borrow only
up to 25p for each £1 it reinvested. While the ratios differ, investment
is limited to some multiple of the retained earnings ploughed back
in all the three cases.®

o In technical terms, it is being suggested that there are upper limits to the
gearing ratios that firms are prepared to use. The gearing ratio limit will then
set a ceiling to the amount of fixed interest debt firms are prepared to incur,
and investment will be at most retained earnings times a multiple which
depends on the maximum tolerable gearing ratio.
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If net-of-tax profits fall from 16 to 7 per cent of marketed output,
the investment that firms can finance by reinvesting their profits will
fall drastically, and companies will also find it prudent to borrow
less because their safe borrowing levels are multiples of the amounts
they can plough back. If most companies are well below their
prudent borrowing limits, this will hardly affect aggregate invest-
ment, for they will be able to borrow the money to finance investment
they can no longer reinvest from profits. But if most companies are
at or close to their limits, the reduction in internal finance for invest-
ment will also cut the amount it is safe to borrow on fixed interest
terms, so investment will be doubly reduced.

In the economy as a whole some companies will be in the first
situation; they will be able safely to make up through borrowing the
finance they no longer obtain from profits. But there will also be
many companies already borrowing as much as they think sound,
and they will not be able to make good the shortfall in retained
earnings by borrowing more. Indeed they will have to borrow less
than in the past if they put less of their own profits into their
businesses each year. '

There are always likely to be some such companies; they will have
to invest less where net-of-tax profits fall. If most companies are
rather close to their safe borrowing limits, the majority will invest
less. The result will be a large fall in investment in the market sector
as a share of marketed output. A fall in retained earnings of one-half
would reduce investment by about one-half if all the companies in
the economy were close to their debt limits. Because many are likely
to be below their limits in any given year, the fall in investment could
generally be expected to be markedly less than one-half where
undistributed profits fall one-half after tax—but there is no doubt
that aggregate investment will fall as a share of marketed output.

If employees resist squeezes, why not employers?

Workers are liable to resist strongly where they are squeezed, so
that they can often make good, through higher money wages, any
reduction in their standard of living due to higher taxation and
higher prices. Why cannot companies do the same? In theory they
can, and there is much evidence that profits taxes often are passed on.?

? Peter Mieszkowski, ‘Tax Incidence Theory: the Effects of Taxes on the
Distribution of Income’, Journal of Economic Literature, Vol. VII, December
1969, gives a survey of the evidence.

12



Growth in Public Expenditure and Britain’s Difficulties

But there is also evidence since 1960 (certainly in Britain) that the
main effect of higher public spending has been to squeeze net-of-tax
profits and therefore investment rather than net-of-tax wages and
salaries. Fundamentally this must be because, in some countries,
companies now lack the power of trade unions to pass taxes on for
the reasons outlined above (p. 7).

A recent statistical study has arrived at precisely the result that
increases in public expenditure and therefore taxation have had
strong adverse effects on private sector investment. Mr David Smith,
formerly of the Bank of England, has published a cross-section study
of investment, public spending (measured conventionally), inflation
and growth for 19 countries in the period 1961-72; his conclusions
included the following proposition:

“Until further, and better, estimates can be provided by others the
author would like to suggest that, as a simple rule of thumb to
concentrate the mind, it be assumed that each 5 per cent increase
in the share of national disposable income absorbed by direct
state consumption (on the narrow definition excluding transfer
payments) implies a 1-0 per cent drop in the growth rate’.

It drops primarily because °. . . each increase in the narrow definition
of state consumption of 1-0 per cent of NDI [net domestic incomes]
produces a 0-94 per cent drop in the ratio of investment to NDI’.8
Mr Smith’s statistical results are completely in harmony with the
analysis presented here. Higher state consumption must squeeze
net-of-tax profits or wages and salaries as a share of marketed output.
In so far as it squeezes profits, and this is perhaps what it is now most
likely to squeeze in many countries, it will also squeeze investment,
because many companies will consider it imprudent to borrow on
fixed interest terms the finance they can no longer find from their
profits, especially if net-of-tax profits are falling, and many are
particularly pessimistic about future profitability.

There is one further direction from which private-sector finance
for investment could come. Foreign companies could conceivably
provide the investment that the domestic firms cannot or will not
finance. This possibility can be dismissed at once. Falling net-of-tax
profits with workers pushing up wages rapidly to preserve their own

8 David Smith, ‘Public Consumption and Economic Performance’, National
Westminster Bank Quarterly Review, November 1975.
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net-of-tax earnings would discourage foreign capital. If conditions
became bad enough, money might come in from foreign governments
for charitable reasons, but multinational companies will seek to
withdraw as much capital as they can from a country with sharply
falling net-of-tax profits and rampant wage inflation, and all the
ensuing social and industrial conflict.

Inadequate investment and structural unemployment

It is therefore overwhelmingly likely that if net-of-tax profits are
squeezed as a result of an increase in the proportion of marketed
output taken by government, investment will fall too. The implica-
tions are of profound importance, for inadequate investment can
all too easily lead to structural unemployment. It is a well-known
principle of economic theory that if output can be raised 5 per cent
a year and £2 of capital is needed to produce £1 worth of output per
annum, 10 per cent of output must be invested each year.? This
fundamental proposition is illustrated in the Table.

The relationship between growth of marketed output and investment
requirements where £2 of capital is needed to produce £1 of output
per annum:

Possible  Capital  Investment

output  required needed
Economy A: 5 per cent growth
Year 1 100 200 10
Year 2 105 210 10-5
Year 3 110-25 220-5 11-02
Economy B: 2 per cent growth
Year 1 100 200 4
Year 2 102 204 4-08
Year 3 104-04 208-08 416

In Economy A where there is 5 per cent growth, capital has to be
raised from 200 to 210 between Years 1 and 2 if output is to be
raised from 100 to 105, and this can only be achieved by investing

® This is an application of the Harrod-Domar formula which states that a
country’s long-term share of investment must equal the rate of growth times
the capital needed to produce a unit of output.
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10 per cent of the first year’s output. All net investment is an addition
to the capital stock, so investment of 10 raises the capital stock by
the necessary 10 from 200 to 210.

Now suppose an economy in these conditions has the technological
potential to raise its market sector output 5 per cent a year because
it can raise output per worker 4 per cent a year and employment
1 per cent a year. If it needs £2 of capital to produce £1 of output, it
will have to invest 10 per cent of market-sector output like Economy
A. Imagine that because of a profits squeeze it invests only 4 per cent
of its output like Economy B. Its capital stock will then grow only
2 per cent a year from 200 to 204 in one year and 208 in two, and
so on, like Economy B’s. With this slow growth of capital, output
will be able to advance only from 100 to 102 to 104, instead of from
100 to 105 and 110 like Economy A’s. But if output grows by only
2 per cent a year and output per worker rises 4 per cent a year,
employment must fall 2 per cent a year. Hence if an economy with
the growth potential of A limits itself to B’s investment, it will have
only B’s 2 per cent rate of growth, so its 4 per cent productivity
growth rate will lead to a 2 per cent loss of jobs each year. Thus in
this simplified example, A can have a 5 per cent rate of growth and
a 1 per cent increase in jobs if it invests 10 per cent, and it will enjoy
only a 2 per cent rate of growth, and it will lose 2 per cent of its
jobs each year if it invests just 4 per cent.

There are two true ways and one false way out of this trap. The
false way out for the unfortunate country is to raise its rate of growth
of productivity from 4 to 6 per cent without investing more or cutting
the capital costs required to produce a unit of output. With only
4 per cent of output invested its rate of growth will still be B’s 2 per
cent. Therefore with 2 per cent output growth and 6 per cent growth
of output per worker, 4 per cent of its labour force will become
redundant each year instead of 2 per cent. These workers will either
languish in idleness, or be absorbed into the non-market sector,
which would then require still higher taxation and squeeze profits
yet again so that even the 4 per cent investment rate of Economy B
would be difficult to sustain.

In contrast, a true way out of the trap is to raise investment to
10 per cent of marketed output. It could then grow at 5 per cent like
Economy A. If this must be financed largely from profits, the
non-market sector may need to be reduced in size relative to the
market sector to allow taxes to be cut, and the share of profits net
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of tax to rise. Another true way out of the trap would be to drop the
rule that £2 of capital is needed to produce £1 of output a year. If
rising output from the existing capital stock could be achieved, the
case shown below would be a possibility.

Possible  Capital  Investment

output  required needed
Economy C: 5 per cent growth
with falling capital requirements
Year 1 100 200 4
Year 2 105 204 4-20
Year 3 110-25 208-20 4-41

Economy C, which solves all the problems, has A’s 5 per cent rate
of growth and B’s 4 per cent share of investment. It accomplishes
this by steadily cutting the capital required to produce a unit of out-
put, and the capital required to equip a worker.

Any economy would find it marvellous if it could obtain what C
achieves—extra growth without having to pay for it. In principle,
with rapid technical progress, the capital cost of growth could rise
(economists call this capital-using technical progress) or fall (capital-
saving technical progress) or stay the same (neutraltechnical progress).
C is an example of capital-saving technical progress. It can happen,
but historically technical progress has been capital-using as often as
it has been capital-saving. Marx based his predictions on the belief
that technical progress would always be capital-using, which he
assumed because of what happened in the first century after the
industrial revolution, so he predicted that capital-output ratios
would continuously rise and cause growing technological unemploy-
ment. There will also be growing technological unemployment if
technical progress is neutral (i.e. the amount of capital needed to
produce a unit of output neither rises nor falls) and the share of
investment falls because profits are squeezed. If profits have to be
squeezed and investment falls continuously, capitalism will be saved
only if technical progress is capital-saving, the precise opposite of
Marx’s assumption, so that as with Economy C, 5 per cent growth
can be attained with only 4 per cent investment. This is a great deal
to hope for and an economy will be extremely fortunate if it happens.
Britain has not managed to achieve it for reasons which will be
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discussed when the relevance of the argument to the country’s
problems is considered below (pp. 18-19).

Wage inflation or structural unemployment

An economy can in principle suffer from two kinds of problem if the
ratio of non-market expenditure is raised significantly. First, if the
share of output received by workers and salary-earners is reduced
to provide the extra resources the government requires, wage
inflation may accelerate, or alternatively if the money supply is
controlled, more unemployment will be needed to check it. If net-of-
tax profits are reduced instead of wages, investment will suffer to an
extent depending on how near companies are to their borrowing
limits, and if investment falls the rate of growth of productive capacity
is likely to fall and technical progress will produce growing redun-
dancies instead of extra output. The only way of avoiding this
consequence is to achieve capital-saving technical change—and this
will not happen easily.

The increase in non-market expenditure in Britain has produced
both kinds of adverse effect. Attempts were made to finance extra
non-market spending at the expense of workers’ consumption, and
deductions from pay-packets rose by about the 9 per cent of marketed
output needed for this purpose, so the economy could in principle
have achieved a transition where workers bore the entire cost. But
workers did not acquiesce, so wage inflation accelerated, unemploy-
ment rose and incomes policies had to be made increasingly strict.
Through the extra inflation they caused, workers managed to pass
the bulk of extra taxation on to companies, which ended up having
to pay for the larger non-market sector. Companies have responded
by investing less. With its faster productivity growth rate, the
country has needed more investment, not less, to maintain employ-
ment in the market sector. So the economy has also suffered from
declining market sector employment, which started to decline rapidly
long before the onset of the world recession. Britain is therefore
suffering both from growing structural unemployment, and from
incomes policies that have to be tougher or from unemployment
that has to be higher than before to contain inflation. And the
adverse trends, if left unchecked, will continue so that structural
unemployment will become still higher and workers still more
discontented.
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Why the failure to achieve capital-saving technical progress?

That is how Britain’s crisis has come about. The one question that
still requires an answer is why the country has failed to achieve the
capital-saving technical progress that would have allowed it to grow
faster and invest less at the same time. It can be supposed that
industrialists base their choice of plant on the relative costs of labour
and capital. The cost of employing labour has risen sharply in
Britain since 1961. Taxes on employment to finance improved social
security benefits have risen dramatically, and money wages have also
risen considerably relative to product prices. But the cost of capital
has risen too, because when firms approach their borrowing limits
it is to be expected that they will attach a high notional cost to the
use of extra capital. Hence the costs of capital and labour have both
risen sharply, but the cost of labour may have risen more. If it has,
firms may have biased their investment in the capital-using and
labour-saving direction—thus accentuating the problem.

But it would still have been solved if Britain had been able to
achieve rapid capital-saving productivity growth. This is the solution
of those who see Britain’s weaknesses as the result of failures by
workers and managements to achieve adequate productivity growth.
It will be evident from what has been said that merely to have raised
productivity faster would not have solved Britain’s problem. Higher
labour productivity with the same capital requirements to produce a
unit of output would have increased the investment needed to prevent
growing structural unemployment in the market sector. What was
needed was higher productivity and a fall in the investment required
to produce a unit of output at the same time. The first of these can be
called curing overmanning, and the second (where more output is
produced from the same plant) curing under-production. Britain
suffers from both in, for instance, the motor-car industry,'® but
under-production is the fault that is crucially relevant.

The Think Tank listed several reasons why the British motor-car
industry obtains less output from the same plant than firms on the
Continent. They cited examples of similarly equipped assembly
lines producing 75 per cent and 120 per cent more on the Continent.
They said that British assembly lines move more slowly and so pro-
duce less output per unit of capital. They also suffer more interruptions

1o Central Policy Review Staff, The Future of the British Car Industry, HMSO,
1975.
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from stoppages. Of the total production so lost, manufacturers were
said to attribute 40 per cent to shortages of materials due to external
disputes, or poor stock control where necessary materials and
components are not ordered in time. Finally, British plants lost
twice as many hours through mechanical breakdowns even though
the industry employs 80 per cent more workers on maintenance.!

If these faults apply to many British industries, as they probably
do—it is unlikely that the car industry is unique—much under-
production is evidently due to failures by management and labour
on the shop floor. There is relatively little that governments can do
to put such defects right. But there is one aspect of under-production
where governments may be able to give a little assistance. The
utilisation of plant can obviously be improved if output grows more
rapidly, for this would allow items of equipment used for only a
few hours a week to be used for longer. Moreover, with faster
growth of demand, workers can raise productivity without losing
their jobs. Therefore, if Britain could achieve a faster rate of growth
by other means, such as investing more and allocating more economic
resources to activities that are directly productive, the output of
existing plant should rise where it is not inefficiency due to labour and
managements that is holding it back, so there could be a double
benefit in some industries. The world’s fastest-growing economies
have the lowest capital costs of growth, which makes their growth
easier to sustain. If Britain could escape from the vicious circle of
slow growth, low demand for the output of particular items of plant
and an industrial environment where extra efficiency often causes
redundancies so that incentives to improve productivity are minimal,
much might be achieved. Progress might be made to cure Britain’s
problem of under-production if governments started to solve some
of the economy’s other problems.

Government action on the profits and investment squeezes

Governments will therefore need to tackle the profits squeeze, and
the investment squeeze it has caused. Here the Left’s position is
absolutely clear-cut. It accepts that there has been a profits squeeze
and welcomes it, but recognises that the consequent squeeze on

11 CPRS, ibid.
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investment is regrettable. With capitalism unviable as it is in Britain
in the middle 1970s, the Left knows that the state will have to ensure
that there is enough capital to provide jobs, for without profits
companies simply cannot.

A non-Left government which wished to restore the economy
would need to reverse the sequence of events which led to the profits
and investment squeeze of 1961-74. If the government’s requirements
fell back from 45 to 36 per cent of marketed output, 9 per cent extra
could go to net-of-tax wages or profits, and both would probably
gain. This should lessen the pressure for increased money wages,
and the temptation to moderate workers to elect militants. In so far
as company profits benefited from lower taxation, there would be
more internal finance for investment and more willingness to borrow;
and with rising profits the stock exchange should become more
buoyant, enabling fast-growing companies to obtain equity finance
on acceptable terms. In addition, with all these favourable trends for
profitability, international investment should again be attracted to
Britain to supplement domestic resources.

Some economists have failed to observe the disintegration of the
economy because in their theoretical approach aggregate saving
determines investment. They do not believe collapsing company
saving will cause difficulties provided that personal saving rises to take
its place. But if all the saving is done in the personal sector, and the
investment has to be undertaken by companies which have no
profits, trouble must result. The companies will not invest without
profits, and the personal saving will have to be lent to the government
(for who would wish to lend directly to unprofitable companies?),
which will then have to find a way of passing it on to the company
sector. This must involve dirigiste Left policies, so these are inevitable
if saving is predominantly personal, and companies are unprofitable.

Other economists believe that the government should continue to
take extra resources from the market sector and raise taxation to
pay for them, because that is the direction in which a civilised
community should progress. Many who hold these views also believe
that the government should avoid dirigiste Left policies like import
controls and direct state intervention in investment decisions because
such interference is inefficient. They consider the market more
efficient and believe it should take private-sector investment decisions.
But with growing public expenditure and taxation, profits can become
so low that the market sector will generate insufficient investment.
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The market will not then be able to allocate the nation’s investment
resources efficiently because there will be insufficient profits to allow
it to function as it should.

Moreover, with workers discontented, devaluations will produce
accelerating inflation instead of balance-of-payments equilibrium.
If growing public expenditure and accompanying taxation is allowed
to reduce profits to the point where a market economy cannot func-
tion effectively, only dirigiste Left policies can prevent chaos. So
these economists, and they are numerous, must choose. They can
support the allocation of investment resources through the market,
or they can support policies of higher public spending, but not both.

And the British people must decide, either to strengthen the market
sector so that it can function effectively, or to support the Left.
Once the choice is made, the policies chosen must be continued long
enough to allow the structural balance of the economy to be restored.
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Is public expenditure in Britain too high relatively to national
output? A strong body of opinion would support this view. Others
would reject it although some would concede that the speed at which
public expenditure has grown in recent years has been excessive.
How can we assess these conflicting views?

I BASIC PRINCIPLES

A good many years ago, Colin Clark maintained that taxation should
not exceed about a quarter of GNP, but most developed nations
have gone far beyond this limit. Japan has been the outstanding
exception, and her relatively low level of public expenditure has
presumably made it easier for her to sustain a high level of investment
and a fast rate of growth. Growth, as conventionally measured, is
not however the only objective that private people or their govern-
ments may wish to pursue, and it is better to recognise at the outset
that there is no ‘right’ relationship between public expenditure and
output, or between taxation and output, that can be held to apply
to all countries.! Even for a single country, such as Britain, econom-
ists cannot prescribe a figure that is scientifically ‘right’. For we are
dealing here with a question of ‘trade-offs’—the exchange of some
additional gains from government spending for gains from private
spending. It is only to be expected that these ‘trade-offs’ will be
viewed in a different light by different people. There are two obvious
reasons why this should be so.

First, there are differences in the empirical assessments that people
may make of the sacrifice that will be entailed under one heading in
order to obtain gains under another. The old and inconclusive
debate about incentives and taxation is a familiar example. That is
to say people may hold different views about the facts of any par-
ticular situation and about the consequences that stem from them.
We cannot expect to have a clear-cut answer even to the scientific
question. It is necessary to add, however, that these differences
about empirical matters could be reduced by better and more
carefully analysed information. It is one of the duties of responsible

1 T do not wish to imply that Colin Clark was claiming that there is such a unique
figure. He was talking about an upper limit and his 25 per cent indicated the
region in which he thought that limit lay. :
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politicians—and of professional economists—to do what they can to
make such information as widely available as possible. The facts
about public administration are relevant here as well as the statistics.
For we must ask whether the procedure for decision-making is such
as to foster rational choice. We cannot even take it for granted that
relative increases in public expenditure will always be seen to mean
relative decreases in take-home pay. Then, secondly, differences of
opinion may reflect differences in basic value-judgements. Differences
may emerge even if the same views about the facts are held by
disinterested people who are free from bias. The third source of
difference is the rather obvious one that people are by no means free
from bias.

qugmment expenditure too low or too high?

It is not surprising, therefore, that opinions differ a good deal about
the desirable proportion of public expenditure to national output
over a considerable range. There will be zones at either extreme,
however, where the majority in favour of more or less would grow
very large and strong. If public expenditure were so low that import-
ant public services were being prov1ded on a miserable scale, we
should expect strong support for an increase. For one can envisage a
situation in which private affluence was accompamed by public
squalor without necessarlly agreeing that that is a fair description
of the situation in practice. One can envisage easily enough the
opposite extreme- also, and it ‘can scarcely be doubted that we have
been rapidly approachmg this second zone in recent years with the
result that an incréasing number of informed people appear to be of
the opinion that public expenditure is too high.

- The basic question here relates to consistency. It is quite possible in
principle that people might prefer to have more goods and services
supplied outside the market by the state. They might also prefer to
have more incomes paid in the form of state benefits and less in
return for contributions to production. If these are indeed their
choices and if the choices are made with open eyes and a full aware-
ness of the consequences, both long-run and short, have economists
any valid grounds for criticism? Perhaps not—but we can insist
that it would be folly to proceed with policies that raised the relative
importance of public expenditure if the consequences were in-
adequately perceived or neglected. Will people work as hard. to
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obtain more public goods as to obtain more private goods? Will
they show the same enterprise? Will it, indeed, be possible for them
to do so in view of organisational differences? Will they save just as
much? Will they abate their claims on the more restricted supply of
private goods? Will they appreciate that this supply will be restricted
not only because a higher proportion of any given level of output will
be taken by the state but also because total output is likely to grow
more slowly over time?

In short, some people may try to have it both ways and thus ignore
the need for choice. Or they may hope that the other fellow—the
rich fellow—can be made to pay. Here we are touching on a persistent
and dangerous myth which undoubtedly clouds the issue and reduces
the likelihood of rational choice. Most people might agree that there
are many inequitable features in our society, but the error lies in
supposing that a large sum would be made available for redistribu-
tion by despoiling the rich. The Government itself has admitted that
“if no taxpayer were left with more than £5,000 per annum after tax,
this would increase the yield by only about 6 per cent’. That is to
say, the yield of income tax would be increased by only 6 per.cent.
Or total tax revenue would be raised by about 2} per cent, equivalent
to something like 1 per cent of GNP. :

Undoubtedly there has been a marked strengthening of the opinion
that public expenditure in Britain has been growing too rapidly-and
is now too high at its current level of something like three-fifths of
GNP.2 Both public expenditure and GNP are at factor cost. With
expenditure and taxation so very high, public finance raises some of
the most important questions of choice in economics. But I think
it is not untrue to say that this fact has been inadequately recognised
in the teaching of economics. Most of the economic textbooks
devote much attention to the choices of individuals and firms as
expressed through the market and to the warping of the pattern ‘of
expenditure by ‘imperfect competition’. But the determination of
the total level of public expenditure and its allocation between uses
have received little attention, although the problems involved are
probably very much more important than those posed by so-called
‘imperfect competition’. : :

2 Official estimate given in Public Expenditure to 1979-80, Cmnd. 639'3,‘
February 1976, p. 1. On the same page it is recorded that: ‘In the last three
years public expenditure has grown by nearly 20 per cent in volume, while
output has grown by less than 2 per cent’. R .
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IT INTERNATIONAL COMPARISONS

Public expenditure is high in Britain but we must recognise at the
outset that it is also high in other developed countries. If we express
total public expenditure as a percentage of GNP, we obtain the
following results for 1973: Germany, 38% per cent; Italy, 40 per cent;
the Netherlands, 48 per cent; France, 37 per cent; Sweden, 50 per
cent; Japan, 21% per cent; UK, 41 per cent. The British figure was
not, therefore, so abnormally high as is sometimes supposed.

These figures relate to total public expenditure on goods and
services, social transfers, subsidies, debt interest, etc., by all forms
of government but do not include expenditure by nationalised
industries. The figures for the foreign countries are at market prices
because this is how they are presented in the OECD publication
from which they are derived. For comparability, British figures are
also at market prices. That is to say, indirect taxes less subsidies are
included in the prices for expenditure on goods and services and in
the total figures for GNP. Unfortunately these estimates at market
prices can be somewhat misleading, for indirect taxes (less subsidies)
fall much more heavily on personal consumption than on the goods
and services bought by government.

If we are interested in the claim on real resources, it is better to
use estimates at factor cost. On this basis, public expenditure of all
kinds in Britain—excluding expenditure by the nationalised in-
dustries—came to 48 per cent of GNP at factor cost in 1974. In the
first half of 1975, the figure was almost 53 per cent. The corresponding
figure for 1956 was about 38 per cent. .

It may be objected that these percentages are still unsatisfactory,
for public expenditure includes not only expenditure on goods and
services but also social security transfer payments, debt interest,
subsidies and so on. These other payments, it is held, raise personal
incomes or lower the cost of living and are not therefore a net claim
by the state on real resources. It must be admitted that we are dealing
here with a mixed bag. It remains true that all these disbursements
by the state have to be met by taxation or public borrowing. The
truth is there and it is an important one. Even when the state is
making transfer payments it is affecting the working of the economy
by providing incomes that do not correspond to any current contri-
bution to production. Such transfers, of course, can be justified in
principle. In practice the verdict will depend upon the reasons for
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- making them, the scale on which they are being made and the
position in which the economy finds itself. To concede as much is
very different, however, from pretending that transfers within a
nation are of no ‘real’ economic significance. Public expenditure
expressed as a fraction of GNP is admittedly a crude relationship,
but it is not without meaning and is convenient and well-established.

Let us, however, try to analyse the figures a little further. The
Table relates to expenditure on goods and services only and thus
shows the claims made by government in 1974 on real resources. It
will be seen that these claims came to 27 per cent of GNP. But we
must also allow, on the basis of official assumptions, for the 22 per
cent of personal consumption purchased not from incomes earned in
production but from transfers received from the state. Thus officially-
financed personal consumption came to nearly 14 per cent of GNP.
There was also a substantial item for public expenditure on subsidies
and grants of various kinds.

NATIONAL EXPENDITURE IN 1974
(factor cost)

Per cent

Personal consumption 61
Industrial investment

(including the nationalised industries) 17
Public authorities’ consumption 22
Public investment , 5
Exports of goods and services ’ 29

less imports of goods and services -36
Net unearned income from abroad 2
Gross national product 100

4

We can now examine a different aspect of public expenditure: its
relationship to personal income. Of total personal incomes of almost
£75 billion in 1974, about 15 per cent were earned as salaries in
central government and local government employment in the
production of services that are not marketed. Another 10 per cent
was received in-the form of social security transfers. Finally a large
part of the expenditure by the state on interest went to private persons
or to insurance funds and the like operating on their behalf. Thus
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total personal incomes that did not correspond to the production of
marketed goods and services came to not far short of 30 per cent of
total personal incomes before tax.

Il ECONOMIC CONSEQUENCES OF HIGH EXPENDITURE

What then are the economic consequences of this high level of public
expenditure? One of the issues that must be considered is the effect
of a high level of public expenditure on inflation.

High government expenditure and inflation

This question was raised by the Expenditure Committee in 1974
and different answers were given by the witnesses.? Mr David
Worswick was not inclined to accept that there is much connection.
He quoted statistics for a number of countries which showed no
correlation between the rates of inflation and the relative importance
of public expenditure or even between rates of inflation and the rates
of growth of public expenditure. T do not find this altogether surpris-
ing when so many other things are not equal. We must admit,
however, that although this evidence does not really disprove the
case that there is a link between public expenditure and inflation, it
shows that there is no simple positive correlation. Any verdict
based on this kind of evidence must therefore be ‘non-proven’—
either way. But we have, here, an interesting field for more detailed
comparative research. Why have different rates of inflation been
accompanied by differences in the relative importance of public
expenditure?

Lord Kahn and Mr Michael Posner were prepared to go further
than Mr Worswick. They conceded that a rapid rate of growth of
public expenditure relatively to the rate of growth of GNP could be
inflationary. But they were not prepared to accept that a high level
of public expenditure was in itself inflationary. This is surely a
puzzling view: it is not the destination that matters but only the
speed at which it is approached! It would make no difference, there-
fore, whether public expenditure were only 30 per cent of GNP or
over 50 per cent, as it is today. Let us suppose, however, that the
percentages were 75 per cent! Or 90 per cent! Can it really be main-
tained that such percentages would be of no importance provided

3 Ninth Report from the Expenditure Committee: Session 1974.
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we did not reach them too quickly? In my view, this is an argument
that can easily be demolished by reductio ad absurdum.

- A relatively large volume of public expenditure may be inflationary
in two main ways. First, government may not attempt even from the
outset to balance its expenditure by taxation and may finance part
of it by borrowing or by the creation of new money. Even if it is
financed entirely by long-term borrowing, total monetary expenditure
may rise in the short run in so far as the government bonds are
purchased by previously idle money. But new money may also be
created and has, of course, been created on a vast scale in Britain. It
is unnecessary-in this context to emphasise the inflationary con-
sequences of the government’s net borrowing requirement in recent
years or to draw attention to the difficulty, even in 1976, of regaining
control. The facts are too painfully familiar.

.- Suppose, however, that government decided to balance its expendi-
ture fully by taxation. Can we then infer that there will be no infla-
tionary pressure? The answer would appear to be in the affirmative,
but it requires closer scrutiny. For we must direct our attention to
the strong political and social forces that determine public policy on
the money supply. Suppose, then, that government raises public
expenditure by a significant amount relatively to national output.
Suppose, also, that there is a corresponding rise in taxation imposed
with sufficient skill to prevent a deficit from emerging. A higher
level of taxation, whether direct or indirect, will reduce the real
value of take-home pay and this will produce an incentive to demand
higher pay. In short, we have here one of the factors that make for
cost-inflation. Unfortunately the monetarists do not want to concede
that there is such a phenomenon as cost-inflation because they want
to regard changes in the amount of money as the sole factor that
can initiate disturbances. But this will not do. Let us, for a moment,
consider the sequence of events described by Professor Milton
Friedman in a well-known article.* An increase in the amount of
money leads to a rise in expenditure and a rise in prices. There will,
he suggests, be a relative shift in the distribution in favour of profits
and at the expense of real wages. This shift may not in practice
occur, but let us accept his assumption for the sake of the present
argument. Real wages will then fall or, if there is some growth in

¢ Milton Friedman, ‘The Role of Monetary Policy’, American Economic Review,
March 1968.

31



The Dilemmas of Government Expenditure

total output, real wages may at all events be less than was anticipated
when the wage-bargains were made. We are told by the monetarists
that there will then be a demand for higher money wages at the
existing level of employment. Again let us accept this conclusion.
If, however, the erosion of real wages brought about in this way
leads to demands for higher money wages, it is surely realistic to say
that the erosion of real wages brought about by higher taxation will
also lead to demands for higher money wages. It has indeed long
been accepted in this country that a rise in indirect taxes may have
this effect, but we must also assume that the unions will allow for
the impact of higher direct taxes. This point has been stressed by
Wilkinson, Turner and Jackson at Cambridge® and by Johnston
and Timbrell at Manchester.® They are surely right.

Let us recall some of the facts about the increasing burden of
taxation. A married worker with average earnings paid about a
quarter of them in income tax alone in 1975-76 as compared with a
tenth in 1960-61. At two-thirds average earnings he was still paying
as much as a fifth compared with a twentieth in 1960-61. Is it any
wonder that we have had so much pressure for higher pay?

Pressures on government

The monetarists can still object that increased wage demands will
not lead to inflation unless the supply of active money is increased.
If its supply is not increased and the wage-demands are accepted,
or partly accepted, costs will, admittedly, be pushed up and prices
will follow unless profit margins can be squeezed; but the penalty
will be a lower level of employment and output. It may then be
argued that, even if costs and prices rise in this way, such a rise
cannot properly be described as inflation for the general level of
prices and costs, though jacked up, may stay at something like its
new level. Inflation, however, implies successive increases in wages
and prices. The weakness of this line of argument is, of course, its
neglect of the strong political forces that will come into play. For
government is then presented with a harsh dilemma. Should it hold

5 D. Jackson, H. E. Turner and F. Wilkinson, Do Trade Unions Cause Infla-
tion?, Occasional Paper 36, Dept. of Applied Economics, University of
Cambridge, 1972.

¢ J. Johnston and M. Timbrell, ‘Empirical Tests of a Bargaining Theory of
Wage Determination’, The Manchester School, 1973.
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expenditure down and thus incur the penalty of higher unemploy-
ment and loss of output? Or should it allow total monetary expendi-
ture, public and private, to rise and thus incur the penalty of infla-
tion? It is surely unnecessary to emphasise that government will in
practice come under powerful pressure to relax its ‘sound money’
policy and resort to deficit financing. We are, therefore, forced to
conclude that the larger volume of public expenditure and the higher
level of taxation can initiate a course of events that will, in the event,
be inflationary in the full sense of the term.

Although the monetarists have performed a valuable service by
their emphasis on the importance of the money supply, they have
marred their case by their too exclusive emphasis on that factor. For
this inhibits the investigation of other related matters. Thus we must
recognise that most of us are schizophrenic in our approach to
public expenditure. We vote cheerfully enough for better roads,
hospitals, pensions and so on but we are not prepared to accept the
implications for our own real take-home pay. We want higher ‘take-
home’ pay in order to protect or, if possible, to improve our position;
and we can bring pressure to bear upon governments to allow these
increases in pay to be financed in an inflationary way. For the basic
condition of scarcity is not perceived in the same way in forming
views about public expenditure as in determining our private expendi-
ture on the market. This, indeed, is the crux. This fact might not
have mattered much when public expenditure was less than a tenth
of GNP, but it matters enormously when the percentage is in the
region of one half.

In short, the belief that government expenditure can be offset by
taxation with no inflationary consequences represents an over-
simplified interpretation of a complex social situation. It assumes, in
particular, that gross incomes are themselves independent of the
taxes levied upon them. But this is not so, or is only partly so. For,
in practice, higher taxes can lead to higher gross incomes.

High government expenditure and economic growth

1 now turn to the possible effect of high public expenditure on
economic growth. Mr Robert Bacon and Mr Walter Eltis have
presented with great cogency and persuasiveness a case for believing
that its effect has been adverse.” I shall begin by inviting you to

* Sunday Times for 2, 9, 16 November, 1975, and their essay (No. 1) in this
Readings.
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consider evidence that may suggest doubts. First, let us look much
further back in our history. About the beginning of the century
government was spending only 10-15 per cent of GNP but the post-
war growth of GNP, if slow by international standards, has been fast
by our own historical standards. Or let us make an international
comparison of the more recent evidence. As with inflation, it does
not provide us with any convenient simple correlation. In some other
countries such as Germany and France, public expenditure has been
nearly as large a proportion of GNP as in Britain but growth has
been much faster. Holland has been spending on a rather higher
scale but has also done better. The USA has done better with smaller
expenditure but not as well as some of the European countries.
Japan is the outstanding example that supports what we may call
the Bacon-Eltis thesis—with public expenditure at about a fifth of
GNP and output rising very rapidly until quite recently.

Admittedly these statistics relate to large aggregates and we should
need to break them down in order to make a less superficial analysis.
Above all, other things are not equal and this must affect comparisons
between countries. If, for other reasons, growth tends to be slow in
Britain, then a high and rising burden of public expenditure may be
more harmful here than in more buoyant economies. At all events
our welfare provisions are not the most generous. Some other
countries spend more, even relatively to GNP; but, with faster
growth, they do not have to hold back to the same extent the rise in
private disposable real incomes. These, however, are complex matters
which I cannot pursue further in this paper.

IV RATIONAL ALLOCATION

I return to the problem of making a rational allocation of resources.
This is the problem that has occupied the attention of economists
for a very long time. How can scarce resources be used most
economically?

As T have said, we tend to concentrate attention on allocations
made by the market and there are countless textbooks which explain
in the most painstaking way to undergraduates that the market may
not do this job to complete perfection. There are, however, other
central questions of choice and allocation that are very inadequately
discussed. Who decides that the state should absorb about 30 per
cent of the national output of goods and services and spend in total,
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including transfers and subsidies, the equivalent of something like
two-thirds of GNP? Who decides and by what criteria?

The answer is that no one decides! Public expenditure has simply
been allowed to rise year by year, and this is simply the position we
have reached so far. The Treasury, for its part, is not really making
a choice over a wide range of alternatives. It is hemmed in by the
past, and the room for action always seems very restricted. Then
there is the familiar problem that a programme adopted at moderate
cost in one year may burgeon and grow in subsequent years. This,
of course, was the reason for introducing PESC?® and, in principle,
it was right to do so. But PESC has been a disappointment, partly
because of too much reliance on so-called survey prices—‘funny
money’, as Sam Brittan calls it. PESC should not be condemned
outright for this reason but the procedure needs to be changed. Even
so, the spending Ministers may carry their case in Cabinet with little
regard to the warnings conveyed by PESC projections. Then there
is the question of allocating a given sum of expenditure between
public services. We know how difficult it is to devise useful criteria
for efficiency. We know how hard it is to ensure that the results of
applying such criteria will survive the attack of departmental im-
perialists within the public service. Faulty allocations may well result.
Then there is the further complication that, even given the pattern
of preferences, the resources used to achieve these objectives may be
used inefficiently. Inefficiency is not, of course, confined to the public
service, but private industry is at least subject to the test of the
market. It may be a reasonable presumption that there is likely to
be more waste in the public service. Inefficiency and waste might be
accepted with sadness, but also with resignation, if public expendi-
ture were a small fraction of GNP. It is a different matter when the
proportion is so high. It is not only that waste is then larger abso-
lutely but that it is likely to be larger relatively to total public
expenditure. For it cannot seriously be doubted that the effectiveness
of Treasury control has been considerably reduced by the enormous
growth in public expenditure and by the inflation to which it has
contributed.

Cutting government expenditure
It is now widely held that we need to reduce the proportion of public
expenditure relatively to output. Even the Government agrees.

8 Public Expenditure Survey Committee.
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How is this to be done? The less painful way would be to hold down
public expenditure as output starts to rise again when we emerge
from the recession. With less unemployment and with rising output
per head, we should gradually be able to raise the fraction of output
available for private use.? It would certainly be exceedingly rash to
try to foster recovery by a net increase in public expenditure. If we
felt the time had indeed come to reflate, the much wiser course
would be to cut taxation. Suppose, however, that this way of reducing
the relative amount of public expenditure seems too slow and more
drastic action is demanded. It would involve the more painful
process of making absolute cuts instead of only reducing propor-
tionately. Admittedly there may be a good deal of scope for reducing
waste, including reductions in the number of public employees. In
so far as this is true, those who benefit from publicly provided
services would not suffer, and the painful process of absolute cuts
would be experienced only by people in government employment
who were shaken into more effective activity or expelled from the
public service.

Savings might be achieved in this way but not, I believe, on a scale
sufficient to bring public expenditure down by the required amount.
It would then be a question of changing policies, and such changes
raise basic questions relating to social welfare and social choice.
How should such decisions be made? Could we test public opinion
about such changes? I have been told that a senior Treasury official
once proposed that people should receive a questionnaire with their
tax returns on which they could record their preferences. I don’t
know whether this story is true, but the idea is an intriguing one.
At the very least, we should change our procedure for the handling
of public finance. As Sir Alex Cairncross has said, we are the only
country in the world where decisions about expenditure are taken
before decisions about taxation. The two should obviously be taken
together as the Select Committee on Expenditure has now recom-
mended.*?

® This is broadly what the Government intends. Even so public expenditure is
expected to amount to 53 per cent of GNP in 1979-80. (Public Expenditure to
1979-80, op. cit., p. 8.)

19First Report from the Expenditure Committee, session 1975-6, and Minutes
of Evidence.
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Reform of the weifare state

I have referred to the possibilities of reducing public expenditure
relatively to output by allowing output to rise faster than expenditure.
I have also referred to the case for doing more than this. The need
to do more would be all the greater, of course, if we did not regain
even our former modest rate of growth. This is the possibility that
has been stressed by Dr Rudolf Klein in a recent publication of
the Centre for Studies in Social Policy.1* ‘The escalator has stopped’,
he says. We may therefore need to think the unthinkable. What this
would presumably entail would be a fundamental reform of the
welfare state—a reform which would reduce the flow of expenditure
but should do so without imposing hardship on those who are really
in need, and without blunting our efforts to reduce inequality of
opportunity. This would entail a massive slaughter of sacred cows.
One wonders when we shall have a Government with sufficient
political strength and courage to do so. Shall we ever have such a
Government? Would there be a better chance of having one if the
present electoral system were to be reformed ? These are the questions
to which we are now led.

Fortunately we need not assume that the escalator—the escalator
of growth—has indeed stopped. To this extent the problem will be
eased; eased, but not removed. Moreover, the speed of the escalator
will depend partly upon our use of scarce resources, and we must
scrutinise both critically and constructively the ways in which they
are being used. It would be surprising if the verdict did not include a
strong recommendation that the claims of the state should be
substantially reduced relatively to those of the private sector.

11 Inflation and Priorities, edited by Rudolf Klein, 1975.
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I have a very long-standing interest in public expenditure problems.
Increasingly, I find it very difficult to discuss them save in a context
concerned with what is happening in society generally.

Thereason for this approach is that I suspect the public expenditure
problem cannot be explained in isolation from social phenomena not
usually considered by economists. For the most part we are arguing
about, and concerned with the symptoms of, a much more funda-
mental problem and, if we can’t deal with that, no proposals are
really going to succeed. They may help in the short run but they
cannot succeed for long.

Although the public sector deficit can be seen, in the framework
of an orthodox Keynesian model, as a cause of inflation, there are
some strong arguments for seeing it also, in current UK conditions,
as a consequence.

The dynamics of inflation: towards an economic model?

While there is point in the current concern over the errors that may
be encouraged by the government doing its forward planning in real
terms, there are underlying real-resource relationships in the economy
which are already given too little attention and which may help to
explain both the deficit and other current phenomena. None of the
separate propositions I want to make are particularly novel. I suspect
many of them are not really heavily disputed. I shall try to put them
together in some sort of a dynamic process which would suggest to
some kinds of economist that I ought to have offered you a formal
model. I am not against mathematical modelling of economic
processes—it is often very useful and illuminating. But its central
deficiency is that the behaviouristic changes that are induced by
change itself are extremely difficult to put into this kind of model—
the Treasury model, for example. My own view is that experience
of inflation in Britain has itself generated behaviour changes that
themselves make it much more difficult to produce a reversal. And
1 have no nicely articulated model to explain this; if it begins to
seem worth it I will have to get a bright young man to explain to me
what to do. '

Iam seeing inflation as a time process with two basic characteristics.
The first is that a constant rate of inflation over any long period has
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the same kind of plausibility to me as the notion of a permanently
small baby. It really does not happen. We have to expect that, unless
something is done to change the situation, the rate of inflation tends
to be exponential. And the figures in Britain suggest that certainly
has been true here. Long ago, some economists had the notion that
% per cent per annum inflation was probably a good thing: it oiled
the wheels of commerce and so on. But what it also does is to produce
1 per cent inflation next year, and, unless effective counter-inflation
policies are used, 2 per cent the next year, and so on. So, first,
inflation can’t be thought of as a constant or stable social situation.
Inflation itself changes the socio-economic relationships and attitudes
to policy of people in the community, and may do so in ways
impossible or at best very difficult to reverse.

Effects of inflation on government ‘balance’

To explain this proposition further I want to postulate an economy
in which prices are stable, and which is ‘in balance’ in the sense that
the government’s ‘take’ from the economy is what it wants it to be,
and citizens accept (or at least tolerate) that take (which comprises
the direct claims over resources removed from citizens by taxes, etc.).
I use ‘balance’ not in the sense that the government has no further
plans it would like to implement, but in the broader sense that it has
equated the marginal value of such plans with the political loss (in
voter support, citizen reaction, or whatever) of attempting to im-
plement them. I term a situation of public expenditure ‘balance’,
then, one in which a government is doing what it thinks it can do
politically, and also thinks desirable in the light of its own attitudes.

Now let us allow an externally-induced increase in prices. If the
tax system is progressive, the ‘take’ of government will increase
without need for a change in tax rates. We can think of resource-use
in the economy being determined by claims (consumption or invest-
ment) exercised by:

(@) citizens from their ‘own income’: i.e. the income left for them
to use as they wish after the government has finished with them;

(b) citizens from transfer incomes;
(¢) government.

The immediate consequence of the price increase must be to raise
the share of claims of the government (c), may lower that of transfers
(b), and certainly reduces that of (a), the direct claims of citizens.
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Now, if the government was originally ‘in balance’ in any sense of
that term, it would appear that after the price increase it should
reduce its own claims, for example by appropriately reducing tax
rates. But there are two reasons why it may not do so. First, the
‘balance’ itself may have been shifted by the inflation. The ‘political’
equilibrium required a ‘marginal’ evaluation of benefits from govern-
ment expansion and of the political disadvantages of raising taxes
or borrowing. But now the government ‘take’ has been increased by
inflation: it can choose between the gain from implementing new
policies from the newly-available funds, and the loss from not return-
ing the increased ‘take’ to the citizens. Clearly, the two situations
are not identical.

Secondly, if price stability is itself a part of the government’s
‘balance’, orthodox Keynesian policies would require, not the return
of the surplus yield generated by taxation, but its sterilisation. Thus,
a return to the earlier price level could possibly occur only if, first,
the government treats stable prices as an overriding objective; and,
secondly, the government policy balance is not changed because

(i) it thinks in terms of relative real share and therefore reproduces

the original situation, or

(i) the citizens in (a)—that is the group exercising direct claims on

resources—do not notice the deterioration in their position
before it is adjusted, and so do not change their behaviour.

And thirdly, the real value of transfer payments (b) can be adjusted
compatibly with the requisite budget surplus.

Changes in behaviour—and policy
If these conditions are not met—and experience in the UK suggests
that they never have been under any government since the Second
World War—then the next ‘period’ (an arbitrary term) is likely to see
behaviour changes which create a new policy situation. Let ussuppose
the government, because its notion of ‘balance’ changes, predicts
that the change in attitude of the residual ‘claimants’ on community
resources (those exercising claims directly) will be slower than any
change in its own behaviour. It therefore decides it will extend its
own claims over resources and ‘accept’ (politically) the reduction
of the direct claims of citizens. That is, it seeks a new ‘balance’.
There are two non-exclusive consequences of this continuing
reduction in direct claims. Private investment can be expected to
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decline, first, because of the reduced size of the direct claims sector,
and secondly, because of reduced profitability, particularly in the
sectors of private industry which depend on private demand. As a
result, real claims on resources from own income continue to fall.
‘Lame ducks’ appear in the private sector, and the real standards of
those who depend upon transfers fall. In time this situation must
generate changes in behaviour, either in the government or, if not,
in other people. Under (a) (the direct claims sector) citizens can
react by accepting the reduction in their claims, by working harder
or longer, or by taking counter-action. I would suggest that this
reaction in Britain has in part taken the form of an evolving and
continuous shift from wage, etc. bargaining concerned with relations
between the contribution to output of social (trade union, etc.)
groups and their incomes, towards bargaining about the relative
shares (entitlements) of particular social groups in community output,
increasingly without reference to their own contributions to it.

We must here clarify the relation between ‘own income’ claims on
real resources, and transfer payments. They are normally dis-
tinguished because transfer payments, it is said, are simply transfers
of real claims between one citizen and another. Like all taxonomies,
the utility of the distinction depends upon the context in which it
is to be used. For our purposes, the important characteristics of
the division of real-resource claims from ‘own income’, from trans-
fer incomes, and from government, are:

() own-income claims are reduced by increases in either transfer
or government claims; both manifest themselves to the own-
income group as a deterioration in their position, which is
felt directly—as a diminishing ability to retain or improve
standards as they had expected;

(i) transfer incomes can be protected against reduction (in real
terms) only by what might be called ‘policy-frustrating’
action—that is, by group pressure to maintain the ‘relative
real share’ of the transferees;

(i) offsetting the decline in direct real-resource claims, there
needs to be considered the provision of embodied resources
or services in kind (e.g. health services) by the government to
the citizens. Thus, the sum of earned income and ‘benefits’
of this kind has come to be known as the ‘social wage’.

It is a characteristic of this process that, while ‘public authorities’

such as the government or trade union leaders may emphasise the
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‘social wage’ in public discussion, the matter of importance to the
worker on the shop floor is the change in his ‘direct claim’, or ‘take-
home’ pay. Casual observation suggests that this proposition is not
unrealistic.

‘Real share’ bargaining and government expenditure

If this argument is plausible, we can now examine a further stage in
this process of change—both of behaviour change and of inflationary
development. We are now able, beginning from the arguments made
above, to explain the coincidence (compatibility) of phenomena that
appear to be incompatible in an orthodox Keynesian model. With
continuing inflation, and in the situation we have now introduced, of
a possible change in the bargaining habits of the direct claimants—
the people who spend the ‘residual’ income—and with the possibility
of groups evolving to maintain ‘real’ standards in one or other type
of transfer payment, we can see the new situation in this way:

If we accept the Keynesian model, the shift of resources to the
government could be checked simply by the increasing regressiveness
of the tax system, as inflation moves people into higher income
brackets. And it has been argued here and there that if we leave
everything alone when people do get into a higher bracket, so that
the earlier redistribution is no longer occurring, and the ‘take’ of
government is therefore increasing less rapidly, the situation comes
under control. But this does not work if the changes in behaviour
I have suggested occur in practice. If bargaining shifts towards
negotiation about relative shares, and the government has continued
to use inflation to extend its own claims, then, first, we can have
continued inflation, rising demand for real resources by government,
and a (related) relative increase in public sector labour costs.
(Notice that the process generates unemployment in the private
sector, but can also produce a shift in bargaining attitudes in the
public sector.) So now the inflation itself can be generating increases
in public sector labour costs. And ‘real share’ bargaining here can
be particularly effective because there is much less possibility of
relating earnings changes to changes in public sector output. So that
once ‘relative share’ bargaining begins elsewhere, it is plausible that
it may become most effective in the public sector. This does seem to
have been happening in the UK.

Secondly, we can simultaneously have increased unemployment,
because the process I have been describing reduces profitability and
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private investment, and because private investment comes out of the
‘direct claims’ sector which is being squeezed. None of this requires
or depends upon any changes in the tax system. The situation will be
exacerbated by ‘relative share’ bargaining in the private sector, and
by any shift in the tax system away from personal incomes and towards
industry and profits.

Thirdly, we can see here the reasons for the potential emergence of
a public sector deficit and an increasing borrowing requirement.
Rising transfer payments, rising real labour costs to the public
sector, the rising real resource and money costs of expanding govern-
ment policies, the easier emergence of ‘unplanned’ policies—that is,
the implementation of policies that have not been properly subjected
to parliamentary scrutiny (such as the increases in housing subsidies
through permissive legislation). In most discussion, the significance
of legislation for public expenditures has too little place. Inflation
makes this phenomenon extremely important because it enormously
raises the cost of implementing agreed policies.

Where have all the millions gone?
Now I turn briefly to examine, within the same general framework,
the case of the ‘missing’ £5,500 million for 1975, which has come to

be dubbed the Government’s ‘unexplained loss’. The breakdown of
this £5,500 million is shown in the Table.

£ million
1. ‘Unexplained’ deficit 5,500
Breakdown
2. Announced policy changes 1,500
3. Other volume increases 1,500
4. Underestimate of relative price effect 1,750
5. Underestimate of debt interest 750
£5,500

Item (2) is self-explanatory. Item (3) represents, effectively, ‘new’
expenditures incurred without need for policy debate. Of the £1,500
million, around £1,000 million can be attributed to government
decisions on housing subsidies; the rest remains unexplained. Item
(4) indicates a gross under-calculation of the relative price effect,
arguably because of the inflation-induced change in the bargaining
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environment already explained. Item (5) is more difficult to explain.
Over the relevant period, inflation rates were higher than the general
level of interest rates: we would therefore expect a rise in current
money interest payments, but not in the size of real transfers from
this source.

‘Announced policy changes’ are expenditure obligations of
government implied by legislation already passed through Parliament.
The problems arise from the growing volume of ‘permissive’ legisla-
tion, which makes it difficult to forecast increasing spending under
this head with any accuracy. ‘Other volume increases’, on the other
hand, is civil service jargon for unannounced changes in policy. This
is government ‘policy expenditure’ that has not been explicitly
debated or subjected to legislative discussion anywhere. The simplest
illustration is that £1,600 million of the £1,500 million of ‘Other
volume increases’ has been attributed to increases in housing sub-
sidies which are not subjected to specific public scrutiny. It is not
clear where the remaining deficit of £500 million should be allocated.

When we examine the underestimation of the relative price effect,
it should be noted that the discrepancy is the outcome, on our
interpretation, of the inflationary process itself: it does not result
simply from differing labour intensities in the public and private
sectors giving different relations between labour and output through
time. This change is allowed for. What is being underestimated is
the effect of inflation itself on such elements as the wage-bargaining
process.

Efficacy of ‘control systems’

My conclusions must be tentative since my model is itself tentative.
The general proposition I would make is that all kinds of ‘control
systems’ are likely to be of limited utility unless any ‘breathing space’
they provide is used to break down the dynamic process I have
described. This in turn requires that people’s expectations about the
future course of prices, etc., must be changed.

‘Cash ceilings’—another fad?

The current vogue for ‘cash ceilings’ may therefore be of only limited
relevance. The Dutch used a not dissimilar, but arguably more
sophisticated, system some years ago, called the ‘structural budget
margin’. Essentially, Qit used budgetary procedure to throw up the
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‘margin’ available for ‘re-allocation’ between new public policies and
increased ‘direct claims’ by citizens through tax reductions. The reason
for the breakdown of this system is also the weakness of the ‘cash
limits’ approach. ‘Cash limits’ are valuable in throwing up for scrutiny
the practical implications of incremental changes in the budget
‘balance’. But included in the ‘balance’ (and hence the decision) are
inevitably elements of judgement about reactions. The decision about
the ceilings is, inevitably, a decision about policy. If a cash ceiling is
required by a government to be implemented, then, at least implicitly,
the government has accepted responsibility for the (policy) implica-
tions of that requirement. (Refusal to provide further subsidy funds,
1e. above the previously agreed total, for a nationalised industry
faced with a wage bid is effectively an expression of willingness to
accept the related consequences of a possible strike.)

This reasoning, incidentally, seems to throw light on the relative
position of the monetarists and other economists. In the last analysis
monetarists would require the subsidisation/borrowing of national-
ised industries to be restricted. This implies, for example, that they
would have to be prepared to accept and sit out a miners’ strike
rather than increase the subsidy to coal. What remains generally
unexplained is how the social conflicts generated by the imposition
of restrictive cash c